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Section Id : 2549896822
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52

Number of Questions to be attempted : 52

Section Marks : 52

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896863
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2549896253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A place that a user can create to store files in a Windows system is called a
Options :

1. #¥ cursor

2. # text

3. ¥ folder

4. # boot

Question Number : 1 Question Id : 2549896253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS WM, o STaaHdf Windows ([FSTeT) Ried & 13d R &3 & folu s qahd1 8, 39 Fed el
Options :

1. % HI

2. % TR

3. ¢ IR

4. % dc

Question Number : 2 Question Id : 2549896383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

A is used to organise information into an easy-to-read format of rows and columns.
Options :

1. # Paragraph

2. # Picture

3. ¥ Box

4. ¥ Table

Question Number : 2 Question Id : 2549896383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TH P BRI B T T U S arent Ufdad! 3tk Wl & U H afyd 4 & fore IugiT fsar siar g1

Options :

1. #¥ Paragraph (317:1%?{)
2. # Picture (ﬁﬂ)
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3. % Box (fgsa)
4. ¢ Table (QTcTehT)

Question Number : 3 Question Id : 2549897554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following is an Internal memory of computer?
Options :

1. # Floppy Disk

2. # Pen Drives

3. ¥ RAM

4. % CDand DVD

Question Number : 3 Question Id : 2549897554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘é"l*-l'@?ﬁ:f d‘)ls’-j\C{ P 3AND AART (Internal memory) %‘?
Options :

1. ® g f&eh

2. % U9 134

3. ¢ Yrefwsd ST Hfd (RAM)

4. % @I RSN,

Question Number : 4 Question Id : 2549897689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of following number systems uses letters, such A, B, C, D, E, F, to denote the numbers.
Options :

1. # Binary

2. # Decimal

3. # Octal

4. ¥ Hexadecimal

Question Number : 4 Question Id : 2549897689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

frafiiad & 3 oiH- 9 e yormeh Semsl o1 g & T 3Rl S A, B, C, D, E, F &1 SUART &1 5|
Options :

1. % SRt

2. % SHUWA

3. % 3ffded

4. / AR

Question Number : 5 Question Id : 2549897799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Which language was used as First Generation Language?
Options :
1. ¥ Machine Language
2. # Assembly Language
3. ® C language
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4. % Java

Question Number : 5 Question Id : 2549897799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ugdl Ulgl & HTHT & =0 | 9 & T foodet IuanT fosar mar 4
Options :

1. ¢ H H1ST

2. % SR WIS

3. % C YN

4. % Java

Question Number : 6 Question Id : 2549897889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
is a data that exceeds the processing capacity of conventional database systems.
Options :
1. ¥ Big data
2. # Small data
3. ¥ Defined data
4. # Summary data

Question Number : 6 Question Id : 2549897889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

_ Jg 3t o WRETd STay Riked P UiReuT &d I UR Tl Sl ¢ |
Options :

1. ¢ faSer (Big data)

2. % WA ST (Small data)

3. % gRYIYT Ser (Defined data)

4. % gRIY @ET(Summary data)

Question Number : 7 Question Id : 2549898397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following function returns the prorated linear depreciation of an asset for each accounting period in MS Excel?
Options :

1. ¥ ACOS function

2. % AMORLINC function

3. ¥ MORLINCA function

4. % AMORDEG function

Question Number : 7 Question Id : 2549898397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel & U oraT 3iafer & forg fufafad & 9 &1 91 trar farddt aReufty & ugd & duR Y8 Jeug dlerd 82
Options :

1. % ACOS BhaRM

2. ¥ AMORLINC haRH

3. # MORLINCA o=
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4. % AMORDEG Hha=H

Question Number : 8 Question Id : 2549898694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Magnetic Tape is an example of storage.
Options :

1. # primary

2. # random

3. % sequential

4. ® optical

Question Number : 8 Question Id : 2549898694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Hfes ¢u WGl $T T I&eR G|
Options :

1. * 7@ (A

2. % ¥EH

3. ¢ Hit® (Rieh=ran)

4. % 3PP

Question Number : 9 Question Id : 2549899313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Computer hardware unit that adds two or more numbers is
Options :

1. # the control unit

2. % arithmetic logic unit

3. # an internal CPU register

4. ¥ RAM

Question Number : 9 Question Id : 2549899313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
U gISam TS Sl &1 AT 31 Gl bl Siiedl |
Options :

1. #® EIO_U@F’T@_C' (control unit)

2. &ﬁ@%@ﬂm{ﬁ? (arithmetic logic unit)

3. % goAd ?ﬁtﬁq\ IR (internal CPU register)

4. ¥ RAM

Question Number : 10 Question Id : 2549899334 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

is a way of making a computer, a computer-controlled robot, or a software think intelligently, in the similar manner the
intelligent humans think.

Options :

1. ¥ Artificial Intelligence
2. # Electronics

3. # Advanced
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4. % Machine

Question Number : 10 Question Id : 2549899334 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
U HYR, SR (M Adlle, 71 141 b HHITR S BT e § Sl gfHaTgde el 8, 31 I v o fob
SfeHH s e B

Options :

1. ¢ 3nfeftpiRma gefemia
2. % goaSI+ag

3. % USdis

4. % TR

Question Number : 11 Question Id : 25498910949 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks :

Which of the following is the most commonly overclocked component of a computer?
Options :

1. ¥ DRAM

2. % SRAM

3. # SDRAM

4. ¥ CPU

Question Number : 11 Question Id : 25498910949 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

FofiRed & § oF SR &1 9a9 i siiaradie fdl S aTal 9 8?2
Options :

1. ¥ DRAM

2. % SRAM

3. # SDRAM

4. ¥ CPU

Question Number : 12 Question Id : 25498929723 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT statement from the following about Multi-booting:

Options :

1. # Multi-booting is also useful in situations where different software require different operating systems
2. # Multi-booting allows more than one operating system to reside on one computer

3. ® Multi-booting allows a new operating system to configure all applications needed and migrate data before removing the old
operating system

4. % Having multi boot on one machine is a way to increase hardware costs

Question Number : 12 Question Id : 25498929723 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

frafiiad & 9 7edl-gfeT & IR H Tad Sy ghul

Options :

1. % Aeel-gfen 37 fRufaat & oft Iuahh § STgt S1enT-ofenT Alteddr & o SIeHT- e SIRfET Ried &t sraxadhdT gidl g |
2. % TRl g TP F Y HTRIET Ried ) U SR W g BT A ST |
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3. % Heel-§(¢T U U TR Ried & R TR Ried &1 g 9 ugd 3awad it Ui & B R dx 3R
ST RIFIRY 63 B A ST 8|
4. ¢ TS TR R Tt g T §TS IR AT 9T 1 Uh aRIdT 8|

Question Number : 13 Question Id : 25498929887 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Bar Code Reader is a/an device.
Options :

1. # output

2. % input

3. % VDU

4. # print

Question Number : 13 Question Id : 25498929887 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
RIeIRTE  fSamas
Options :

1. % 3fI3cYc

2. ¥ %4e

3. % VDU

4. % e

Question Number : 14 Question Id : 25498933090 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the Hexadecimal equivalent of the given Binary Number?

(110110, =(__ 7 )¢
Options :

1. % 32

2.9 36

3. % 30

4. % 35

Question Number : 14 Question Id : 25498933090 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3 &1 TS SR TRe ) THded gaNTS R ST ST g2
(110110, = (2 )6

Options :
1. % 32
2.9 36
3. % 30
4. % 35

Question Number : 15 Question Id : 25498934234 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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What is the value of the following MS-Excel function?

=FLOOR(97,14)
Options :

1. %6

2.9 84

3. % 98

4. %7

Question Number : 15 Question Id : 25498934234 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fFTTIRIT MS-Excel TraRTH &1 A &1 82

=FLOOR(97,14)
Options :

1. %6

2.9 84

3. % 98

4. %7

Question Number : 16 Question Id : 2549898159 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tt SR U 1 SUTNIHd! & U a8 Al 31 Hedmd & ol 39 s, JZe, ANSHTS, fEeie a1 31al HeR &
e hTga W TR HA; HIBTRRA a1 AfET A uRacd &3; 1 Twelih R Pl SiieA a1 ge &t TS Te HRdl 82
Options :

1. % Ode sy

2. % UfedfohyH 3™

3. % 3RRIZSH

4. ¢ TR 1ECH

Question Number : 16 Question Id : 2549898159 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What are the permissions an individual user or a computer application holds to read, write, modify, delete or otherwise access a
computer file; change configurations or settings, or add or remove applications called?

Options :

1. # Patent Rights

2. # Publication Rights
3. # Author Rights

4. ¥ Access Rights

Question Number : 17 Question Id : 2549898219 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

; TS U1 A § ST URaT & & SR I AT STHAR TR bt 3R ¥ U1 U & 11 I U Adel! SHTes = Whrsd Sl
I

Options :

1. % g

2. % WIR

3. ¥ FHefhRl
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4. % TSH

Question Number : 17 Question Id : 2549898219 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A(n) is a person who creates a fake online profile with the intention of deceiving or usually to get money out of someone
else.

Options :

1. ® Hacker
2. ¥ Spammer
3. ¥ Catfish
4. % Admin

Question Number : 18 Question Id : 2549899610 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

feetie ford e € Aew graTa: frg wiceR B SuRRd gld €
Options :

1. ® S

2.9

3. % WY

4. % GIUc

Question Number : 18 Question Id : 2549899610 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following folders is used in general to store deleted emails?
Options :

1. # Junk

2. ¢ Trash

3. ¥ Spam

4. ® Draft

Question Number : 19 Question Id : 25498910777 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Linux / Unix OS &, 8@ TaR H fiiex gl R 81 dbdl 82
Options :

1. # Jetc

2. % /dev

3. ® /lib

4. # /printer

Question Number : 19 Question Id : 25498910777 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where can one find the printer in the file structure in Linux/Unix OS?
Options :

1. # Jetc

2. % /dev

3. % /lib
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4. % /printer

Question Number : 20 Question Id : 25498911220 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Sound cards, microphones, headphones, and speakers (built-in or external) with reference to computer system are examples of

Options :

1. # network devices

2. ¥ recording and playback devices
3. # mixing devices

4. % memory devices

Question Number : 20 Question Id : 25498911220 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HR ReH & o T ArEs F1S, AP, gShiH iR T ([ee-37 a1 918d) EaRTARTUR
Options :

1. ® Jead fSargy

2. ¢ RPMET 3R W fearsy

3. % iR fearsq

4. % OAR} {Sargy

Question Number : 21 Question Id : 25498913430 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In video compression, an independent frame that is NOT related to other frame is called as .
Options :

1. # B-frame

2. # P-frame

3. % I-frame

4. # C-frame

Question Number : 21 Question Id : 25498913430 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

difsa TdisT &, U WA A o 3 Y WRd I 838 PpeIoargl
Options :

1. % BIhH

2. % P

3. 1361

4. % CchH

Question Number : 22 Question Id : 25498918476 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e @) e &1 T USRI B, S 7S 3 & B0 o1 gawn ueH wrar g |
Options :

1. % thag

2. ¢ WIR

3. % PR
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4. % fGIOISR

Question Number : 22 Question Id : 25498918476 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

The is like a printer, but allows you to print large images.
Options :

1. # fax

2. ¥ plotter

3. ® scanner

4. % gynthesizer

Question Number : 23 Question Id : 25498918557 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST 319 Windows OS S¥Tdd GG %, @l “Drive Letter’ ORTHICI T fSwice A a1 Eﬁ?ﬂ %?
Options :

1.¥C

2. %D

3.% A

4. # B

Question Number : 23 Question Id : 25498918557 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the default value of ‘Drive Letter’ parameter, when you install Windows OS?
Options :

1.¥ C

2.%D

3.% A

4. % B

Question Number : 24 Question Id : 25498919286 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A bridge is a network-based interface device that connects two working on the same protocol.
Options :

1. ¥ LANs

2. # MANs

3. ¥ WANs

4. % PANs

Question Number : 24 Question Id : 25498919286 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fSIT U ead-SeRd $exthd fSaTgd § Sl U gl Uicidhid R H1H $R 3@ & DI ASA B
Options :

1. ¥ LANs

2. % MANs

3. ¥ WANs

4. # PANs
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Question Number : 25 Question Id : 25498919322 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

STSOR | 1 <8 WieH & oY H1-a1S Ricdhe 71 g?
Options :

1. % Cul+B

2.% Ctrl + T

3. % Ctrl+D

4. % Ctrl + N

Question Number : 25 Question Id : 25498919322 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts will open a new tab in a browser?
Options :

1. ¥ Ctrl + B

2.9 Ctrl + T

3. % Cul+D

4. % Ctrl +N

Question Number : 26 Question Id : 25498919384 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Zee 3t Fgfefad # O 98 HF I TR a1 § S §exe SuaNTamaist & exqe 3 gg fhdt ot duer W Sl g o
1 B DI YA U Bl 82

Options :

1. ¢ $TIAT CaAlthIt
2. % g AR
3. % e Rage
4. % gq

Question Number : 26 Question Id : 25498919384 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following communication services of the internet allows the internet users to talk across the internet to any PC
equipped to receive the call?

Options :

1. % Internet Telephony
2. # Instant Messaging

3. # Internet Relay Chat
4. ¥ Newsgroup

Question Number : 27 Question Id : 25498920713 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which IP addresses are kept reserved for future use or reserved for experimental purposes such as R&D or Study?
Options :

1. % 128.1.0.1 to 191.255.255.254

2. % 192.0.1.1 to 223.255.254.254

3. % 224.0.0.0 t0 239.255.255.254
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4. % 240.0.0.0 to 255.255.255.254

Question Number : 27 Question Id : 25498920713 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

DI Y S Td (IP Addresses) HfaT® & IUTNT & T SRET T STd € I1 YA Ie2a! oY 3R TS 1 a1 3fe5g= & forg
SRI& B &2

Options :

1. % 128.1.0.1 ¥ 191.255.255.254

2. % 192.0.1.1 §223.255.254.254

3. % 224.0.0.0 § 239.255.255.254

4. ¥ 240.0.0.0 T 255.255.255.254

Question Number : 28 Question Id : 25498922682 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks :

e T 3reTiie T8 g I8 ©, df 1 JHW 8 abell 82

Options :

1. ¢ IS WiHce & Ugdr & o Sger o S1axgd WU S%erd e g
2. % TS 5% Sl AP T PR W 8|

3. % BT3d ¥ Sl Afve’ B VIR 781 81 W18l

4. % YA H gHT ©) Il B

Question Number : 28 Question Id : 25498922682 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If email attachments do NOT open, what could be the issue?

Options :

1. ¥ The computer doesn't have the necessary program installed to recognise the file format.
2. % The hard disk might not be functioning properly.

3. # The data from the file is not getting transferred to the monitor.

4. % There is a problem with the cache memory.

Question Number : 29 Question Id : 25498924440 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the given binary format is supported by Linux operating system?
Options :

1. % a.out only

2. # elf only

3. # a.in only

4. ¥ Both a.out & elf

Question Number : 29 Question Id : 25498924440 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

U 7T 13 Bide 7 A 5 e sTmfen Rien & gRT qaié firerar 82
Options :

1. % Had a.out

2. % Had elf

3. % $dd a.in
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4. ¥ Both a.out & elf

Question Number : 30 Question Id : 25498925364 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to Computers, what is hibernation?

Options :

1. # Shutting down the computer.

2. # Putting the computer in hybrid mode.

3. ¥ Powering down the computer by retaining its current state.

4. % Powering down the computer without retaining its current state.

Question Number : 30 Question Id : 25498925364 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

HUeR P GoH H, grEeRaT | R?

Options :

1. % PR BT YCSSH gHI

2. % SR B gI3fors HIS | ST

3. ¢ 3! faggaurT fRufa & Fafa Taer dgex @1 fagyq smafd &3 &=l
4. % P! faggayry Rufa &1 Fafd fard fomr dugex &t faggd smfd &8 &

Question Number : 31 Question Id : 2549896453 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

The section to the right of the last dot in a domain name is the
Options :

1. ® name

2. % [P address

3. ® Web server

4. « Top-Level Domain

Question Number : 31 Question Id : 2549896453 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST A ifaH g () P g IR BT SgHT R
Options :

1. % A9

2. % 3TSUT ISy

3. % 9 IR

4. ¢ 10 A9 S

Question Number : 32 Question Id : 2549896523 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which one of the following web browsers is developed by Microsoft?
Options :

1. ¢ Internet explorer

2. % Mozilla

3. # Netscape navigator
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4. % Lynx

Question Number : 32 Question Id : 2549896523 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

9 & ¥ P19 91 39 TSR AISshIAUe gRT fasfid fvar man g2

Options :

1. ¢ Internet explorer
2. # Mozilla

3. ® Netscape navigator
4. % Lynx

Question Number : 33 Question Id : 2549896540 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct full form of MIME?
Options :

1. # Multipoint Internet Mail Extensions

2. % Multimedia Interface Mail Extensions

3. ® Multipoint Interface Mail Extensions

4. % Multipurpose Internet Mail Extensions

Question Number : 33 Question Id : 2549896540 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MIME & faRdid &0 &1 82

Options :

1. ¥ HedlUlge Se3e Hd Tae g (Multipoint Internet Mail Extensions)

2. % TS W od W%Q'IT\E[ (Multimedia Interface Mail Extensions)
3. % n?cﬁtn”s‘c' sfm aq QTH%-‘TIT\‘:T (Multipoint Interface Mail Extensions)

4. ¢ GRIUS 3?@?.' ad Q?REI%Q'ITH (Multipurpose Internet Mail Extensions)

Question Number : 34 Question Id : 2549897039 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a communication technology used by some incoming mail servers.
Options :
1. % Telnet
2. ® TCP
3. ® FTP
4. ¥ POP3

Question Number : 34 Question Id : 2549897039 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T SABIHT A HR GRT ST BT &1 dTell b HR b1 g |
Options :
1. ¥ Telnet
2. ¥ TCP
3. ® FTP
4. ¥ POP3
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Question Number : 35 Question Id : 2549897371 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following tabs is used to add a new comment in MS Word 2016?
Options :

1. # Page layout

2. ® Reference

3. # Layout

4. ¥ Review

Question Number : 35 Question Id : 2549897371 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

MS Word 2016 ¥, 310 7 & ¥ for 29 &1 STUNT db U =18 fewult (die) SiS Johd 82
Options :

1. % UGl qi313e

2. % IB

3. % 3T

4. g

Question Number : 36 Question Id : 2549897477 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks :

In MS PowerPoint, when a task pane is active, press and to select the next or previous option in the task pane,
respectively.

Options :

1. # ENTER, ALT+TAB
2. ¥ TAB, SHIFT+TAB
3. # CLTR+TAB, ENTER
4. ¥ HOME+TAB, TAB

Question Number : 36 Question Id : 2549897477 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS PowerPoint &, 518 $Is BT thelds Tfehd BidT &, A SHHRT: BT et B 3ATa 1 s d faded o1 9o o & forg
3R gy

Options :

1. ¥ ENTER, ALT+TAB

2. ¥ TAB, SHIFT+TAB

3. ®# CLTR+TAB, ENTER

4. ¥ HOME+TAB, TAB

Question Number : 37 Question Id : 2549897484 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

What is the key combination to stop media playback in MS PowerPoint?
Options :

1. ¥ ALT+M

2. ¥ ALT+Q

3. % ALT+S
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4. % ALT+T

Question Number : 37 Question Id : 2549897484 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

MS PowerPointﬁW@%ﬁW%%ﬂﬁWW%?
Options :

1. ¥ ALT+M

2. % ALT+Q

3. % ALT+S

4. % ALT+T

Question Number : 38 Question Id : 2549898040 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bar chart arranged from highest to lowest incidence is known as:
Options :

1. % Pareto chart

2. # Conic chart

3. % Scatter chart

4. ® Stock chart

Question Number : 38 Question Id : 2549898040 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I A Y TR A IaRAERIE B FHed gl
Options :

1. v QeI a1

2. % B e

3. % WHex AC

4. % Wi aTe

Question Number : 39 Question Id : 2549898062 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
chart stacks a bar that shows different groups on top of each other in MS Excel.
Options :
1. ¥ Stacked bar
2. % Line
3. # Radar
4. # Pie

Question Number : 39 Question Id : 2549898062 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_ O1e, U IR P A BT § Sl MS Excel H T gHR & SR faftd gl &) uelRfd #xd 3|
Options :

1. ¥ XH IR

2. % dled

3. ¥ ISR

4. % U8
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Question Number : 40 Question Id : 2549898082 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following events are in the right order to Print a chart on a full page in MS Excel?
Options :

1. # Click the chart > Move chart > Chart Design > New Sheet > Save > Print

2. % Chart Design > Click the chart > Move chart > New Sheet > Save > Print

3. % Click the chart > Chart Design > Move chart > New Sheet > Save > Print

4. % Chart Design > Move chart > New Sheet > Print > Save

Question Number : 40 Question Id : 2549898082 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fufeRad o ¥ &1 T 92T, MS Excel B R g8 & 91¢ & 01 & Jaie & TG HH & 82
Options :

1. # Click the chart > Move chart > Chart Design > New Sheet > Save > Print

2. % Chart Design > Click the chart > Move chart > New Sheet > Save > Print

3. % Click the chart > Chart Design > Move chart > New Sheet > Save > Print

4. % Chart Design > Move chart > New Sheet > Print > Save

Question Number : 41 Question Id : 2549898097 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following charts generally looks like a spider net?
Options :

1. ¥ Radar chart

2. # Line chart

3. # Scatter chart

4. % Bar chart

Question Number : 41 Question Id : 2549898097 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafifead & o9 91 a1¢ 3 IR W Ade! & Sid o fa@dr 82
Options :

1. ¥ IJRAC

2. % QAT

3. % WhHex A

4. % §RAT

Question Number : 42 Question Id : 25498910473 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

In MS Word, makes the first letter of each word a capital letter.
Options :

1. # lowercase

2. ¥ Capitalise Each Word

3. # Sentence case

4. % tOGGLE case
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Question Number : 42 Question Id : 25498910473 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word H, TP Tec &b UG 31&R B! 98T &R §1d1 8|

Options :

1. % AR BT

Question Number : 43 Question Id : 25498910521 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The below dialogue box will appear to:

Page Setup T

Margins  Piped  Layout
Pag dizs:
Cufom size '
Wiath: 5
Hgight: 7

Paper source

Eirst page: rier pagEs:
|Chel auft by latomatically Sedect Detault bray ot omatiatl Seled |
Automaticaly Seiect Automatica®y Sesect
e G ieledt Privdied buto ieled
whl Feed Tray Rbariasl Feed Tray
i Teay 1
Tely 2
Teay 3
Teny 4
Preview
Apgiy to: | Whole document v Frimt Opions...
Set Az Defaunl oK Cancel

Options :

1. # print a document

2.+ customise the paper size

3. ¥ customise the page margins

4. % change the page orientation

Question Number : 43 Question Id : 25498910521 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2 fear mar Sraar Ste ¥ fore s i
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Page Setup 7 #

Marging Pipid Layout

Faper size:
Custom 1ie i
| tiaen: (&
| Hgighe 7|
Paper iourie
First page: Diter pages
Audgmaticaly Sefect Automatica®y Select
Pringes st select Printes puto 1aient
Manuaal Feed Tray Msrieasl Feed Tray
Teay 1 Tewy 1
Teay 2 Teay 2
Tedy 3 Tewy 3
Tray 4 Teny 4
Preview
Apgply ta:  Whole dotument | v Print Oetionk..
et s Detwult [ e Cancel
Options :

1. % Toh a&draw flic o

2. BITS & HHR DI SIHIerd B
3. % O A1 & SIS B

4. % US 3NRUCTH gae

Question Number : 44 Question Id : 25498910586 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word, there are four types of indents: Left Indent, Right Indent, and Hanging Indent.
Options :

1. ¥ First line indent

2. % Second line indent

3. #® Last line indent

4. % Beginning line indent

Question Number : 44 Question Id : 25498910586 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Wordﬁ,ﬂW%é@?%z WE@T‘L E"I'CITS@T:Z — ﬁ?%ﬁ”’[g@?l
Options :

1. ¢ U W34 $S¢ (First line indent)

2. ® M NIERERH (Second line indent)

3. % 3{fH AR §8¢ (Last line indent)

4. % RMAH AR 3¢ (Beginning line indent)

Question Number : 45 Question Id : 25498910631 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word, what is the default number of lines to drop for drop cap?
Options :

1. %20

2. %10

3.% 15

4.9 3
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Question Number : 45 Question Id : 25498910631 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

MS Word H, 31T &1 & forg S0 3 g1 o) fSthiee Tveam o /2
Options :

1. %20

2. %10

3.% 15

4.3

Question Number : 46 Question Id : 25498910693 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does the navigation pane help in MS Word 2016?

Options :

1. #® You can increase/decrease the font size of texts.

2. # You can translate you text from one language to another language.
3. % You can go to a page or a heading in a document without scrolling.

4. % You can know the meaning of your content.

Question Number : 46 Question Id : 25498910693 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

MS Word 2016 &, A3 O o1 TgTIdl Hal 82

Options :

1. % 3{Y TR P Bl 3ATHR b 9¢1/ U Jbd g |

2. % 3TY 3T UTS U I 37 U H SaTfed o gdhd & |

3. ¢ 3 Siagdic | feh fafkiy gy a1 =fives W famm woife fod S 9ed ¢ |
4. % 319 3Ot IrTft o1 31 S hd

Question Number : 47 Question Id : 25498911466 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
URL stands for:

Options :

1. ¥ Uniform Resource Locator

2. % Uniform Resource Longitude

3. # Uniform Resource Langitude

4. % Unifrom Regional Locator

Question Number : 47 Question Id : 25498911466 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
URL &1 T EY 1 87

Options :

1. ¢ Uniform Resource Locator

2. ® Uniform Resource Longitude

3. ® Uniform Resource Langitude

4. #¥ Unifrom Regional Locator

Question Number : 48 Question Id : 25498913310 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
are useful for quickly creating unweighted cross tabulations.
Options :
1. # Macros
2. # Charts
3. # Functions
4. ¥ PivotTables

Question Number : 48 Question Id : 25498913310 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

- el ¥ HAUid g Rufteu (unweighted cross tabulations) CRIEKY forg ITRT % |
Options :

1. % Hehrl

2. % 91Eq

3. % R

4. ¢ fude arfae

Question Number : 49 Question Id : 25498913315 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By default, a PivotTable any text field.
Options :

1. # sums

2. % counts

3. # averages

4. % copies

Question Number : 49 Question Id : 25498913315 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SWice ©0 4, T fUge difere! fhdl TRe Bt dI/dl |
Options :

1. % Gﬁ?:?ﬂ %’ (sums)

2. % TUME] dXdl % (counts)

3. &% mﬁﬁm% (averages)

4. % gfafef ear % (copies)

Question Number : 50 Question Id : 25498918953 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How to hide the selected text in MS Word?
Options :

1. ¥ CTRL+SHIFT+F

2. ® CTRL+SHIFT+E

3. % CTRL+SHIFT+H

4. # CTRL+SHIFT+D

Question Number : 50 Question Id : 25498918953 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
MS Word ¥ I9fd ¢ ®1 4 fBurd &
Options :
1. # CTRL+SHIFT+F
2. % CTRL+SHIFT+E
3. % CTRL+SHIFT+H
4. ¥ CTRL+SHIFT+D

Question Number : 51 Question Id : 25498932156 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Video conferencing requires two way communication between
Options :

1. # audio and video

2. ¥ receivers and senders

3. # pixels to packets

4. ¥ pixels to frames

Question Number : 51 Question Id : 25498932156 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SN HHRAT & &I SR TR TGS g 3|
Options :

1. % Sfffear ofR ifsa

2. ¢ UTadhal (REtaR) 3R Ives ()

3. % U 9 Ude

4. % fORIA 9 A

Question Number : 52 Question Id : 25498934470 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following streaming is also called progressive download?
Options :

1. % Offline

2. % On demand

3. % Live

4. # Online

Question Number : 52 Question Id : 25498934470 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fofaRad o @ &1 9 i iRE seaars o seard 82
Options :

1. % 3fIbarg

2. % 311 ferre

3. % TIgd

4, % 3R

READING COMPREHENSION
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Section Id : 2549896823
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896864
Question Shuffling Allowed : Yes

Question Id : 25498921073 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)

fU 7T MR B U 3R ISP YR W g U b IR

S-S At TRt S &, 3t 3rolifaest 3 e IR 3nf3rd ofra ot @t SfigmRielt +ft sear dgam ol 81 98 URad
FS ANl & fore Srcran of grar g

YRd & IRE A¢! IR UIod ST & S U=Td BT SMYfcd Bl & 3R Hl ST b TRTHT SR Ui YT 6T o R
&1 it SR (87 U A Rt IR i et & U el §U) 57 Ui © fob SrafRist R anfyd T8 ardl sitany +f
T I H S ¥ d-5d Jhd g | 37 Saru[af & TReam JRIET WR ¥ & ¥ §oIR AT 34 g |

B Glb 3 S dl TET & Qb1 e I 3R =it Faiwh b1 e H W) g 21 %€ R, Wi 31 Wg, el Hf ot 3
AT F IR 99 gU T IS et & o S St o aferer oiR diferar o1 R ugfid ot €1 8 1 37 B ey $fR
Tita 7 o WY e @ < forar SirdT 8 1R 39T IUHNT HR4  Ugd 39 UG I1 1t Ht et fohar S g1

TS 1996 H, Heg TR H fafe=m wex & urit &t Smyfel & &1 & forg s <t 113 2t aifes vt 3 dcfar et # goIRi 181 g5
TRl B aRd §U ST UT| ) &1 U1 81 Sah UTeTd T ThHHT Aid oT| 3R I9H § aral Haferat 7t g8 ust 2|

1970 3 TP H 3RT 3R STRISIG P sid FHAT b PR 570 F 31 7ifa | s 310 e g1 i ol & 39 Berd R
O U S aTdil I3 19 & Yo | Tg1 U 1 A1 H HHT 3118 § 3R I8 I TRE UGN o | I8 A SR WIsforel-Rasi Fel
R, HRa A R a1 RRgTS! AoigR & U | 31a g+ 3Hofifdest Ham 7|

Sub questions

Question Number : 53 Question Id : 25498921074 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T AGRa e
Options :

1. ¢ TR Afeat

2. % Gl B dgdl FHWS

3. % S Sifd SraTial

4, % TR Heferdl

Question Number : 54 Question Id : 25498921075 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fFafiad & 3 o1 T Wy SHw gl 52

Options :
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1. % diferar
2. ¢ g
3. % oo e T
4. % Ufaw

Question Number : 55 Question Id : 25498921076 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS SR @ B GAEY §g el gl
Options :

1. % 7 3R 3R Slienfies ugt o

2. % FRT 3R FeTETENG b i< &b & A

3. % fafc=m 2R

4. ¢ A & fpTR 998 TRl o

Question Number : 56 Question Id : 25498921077 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

3o el GH THAT A4] H HSell Udhe P A1d WG of S od, Rl |
Options :

1. O 3l ugd §

2. % UM H ol o ford! ol gg gl 7T &t

3. % UM BT Syl ep &t 1% of

4. % JEIAMAGEES &

Question Number : 57 Question Id : 25498921078 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B AT o AT T G3AT S SUAT STl TdhT HHM & [ Sl ghed A2
Options :

1. % 3 Uiferar g1 |

2. % 9 @I I & fafrcde a9 |

3. ¢ I TSN HHM & 3 FIe 30T forg|

4. % U YT HIEA B

Question Id : 25498921073 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)

Read the given passage and answer the questions that follow.

As the rivers die away, millions of people who depend on them for their livelihood are finding that their way of life is changing.
Worse, some of them are even finding that their lives are in danger.

India’s thirteen river basins make up eighty per cent of the total surface water and are home to nearly eighty five per cent of the
population. All of these basins are so polluted (mainly in stretches near towns and industrial belts) that only the bacteria that feeds on
waste has multiplied in these waters. The count of this bacteria is anywhere between twenty times to one thousand times above safe
levels.

There are no exact figures but skin diseases and skin specialists are growing in number, especially in towns that are along these
rivers. Polluted water is also the reason behind waterborne diseases like dysentery and jaundice in small towns. In these small towns

and villages water is taken directly from the rivers and not treated or cleaned before it is consumed.

In July 1996, water supply to the town of Vidisha in Madhya Pradesh was stopped for two days because people saw thousands of
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dead fish floating on the Betwa river. The river was their only source of drinking water. Millions of fish had died in the river.

In the 1970s there were more than 570 villages along the Yamuna, between Agra and Allahabad. But you can rarely see a fishing
boat along this stretch of water. The amount of water here has decreased and is completely polluted. These fishermen now earn their
living by driving cycle-rickshaws, begging or working as daily labourers.

Sub questions

Question Number : 53 Question Id : 25498921074 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The passage is about

Options :

1. ¥ dying rivers

2. # growing skin problems

3. # water borne diseases

4. ®¥ dying fish

Question Number : 54 Question Id : 25498921075 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following is NOT a health problem?
Options :

1. ¥ Jaundice

2. ¥ Begging

3. ® Skin disease

4. # Dysentery

Question Number : 55 Question Id : 25498921076 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the passage, skin problems are increasing in
Options :

1. # river basins and industrial belts

2. # the villages between Agra and Allahabad

3. # the town of Vidisha

4. ¥ the towns along the rivers

Question Number : 56 Question Id : 25498921077 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

We hardly see a fishing boat in the Yamuna these days because
Options :

1. ¥ the water is terribly polluted

2. # millions of fish died in the water

3. # the supply of water was stopped

4. # skin diseases have grown

Question Number : 57 Question Id : 25498921078 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What happened to the people who used to catch fish to earn their living?
Options :

1. # They have been diagnosed with jaundice.

2. # They have become skin doctors.
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3. % They have taken up other means of living.
4. # They live in Madhya Pradesh.

QUANTITATIVE APTITUDE
Section Id : 2549896824
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896865
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914307 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

What approximate value will come in place of question mark (?) in the following question?

(You are not required to calculate the exact value)

30.06% of 499 + 39.99% of 799 =?
Options :
1. % 420
2. % 380
3. % 440
4.9 470

Question Number : 58 Question Id : 25498914307 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ferafof@a wem 7 vea OF (7) & Ta W 3ATAa A F97 g AMge? (e Tew A H

IOTAT FET FHLT 1)

499 &1 30.06% + 799 =T 39.99% = ?

Options :
| % 420

5 % 380
s % 440

4 v 470

Question Number : 59 Question Id : 25498928898 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
What value will come in place of question mark (?) in the following question?

V250047 x (245 = 35) = (?)?
Options :

1. % 18

2. % 19

3.9 2]

4. % 23

Question Number : 59 Question Id : 25498928898 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e Uy o Uy g (?) & M W B OG- Su?
V250047 x (245 + 35) = (?)?

Options :
1. ¥ 18
2.% 19
3.9 21
4. % 23

Question Number : 60 Question Id : 25498928964 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
‘What approximate value will come in place of question mark (?) in the following question?

(You are not required to calculate the exact value)

+/1000000.000001 =?
Options :

1. % 1000

2. % 100

3. % 1001

4. % 10000

Question Number : 60 Question Id : 25498928964 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
frafofle wem 7 voF BEa (7) F 7T W 3gATAT AT F47 g1 AMg0? (T Fer A H
TOTAT A& AT 2l)

4/1000000.000001 =?
Options :
|« 1000

5 % 100

5 % 1001
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4 % 10000

Question Number : 61 Question Id : 25498928981 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When a person travels equal distances at speeds v, and v, km/h, his average speed is 9 kun/h. When he travels at
these speeds for equal times, then his average speed is 12 km/h. The value of |v;, — v, |is:

Options :

1.%9

2. %10

3.¥12

4. % 15

Question Number : 61 Question Id : 25498928981 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ol§ I3 Aldd v, 3R v, km/h B TrAl I THA gRAT 08 &l g, A IADI 39d 1 9 km/h Bt
gl O/d 9g THM 99g & U0 Ssi 9mal O 9B Bl ©, df Sud! 3d 91d 12 km/h 81 9l 8|
lv, — v, BT HHE Jd BT

Options :
1. %9
2. %10
3.9 12
4. % 15

Question Number : 62 Question Id : 25498929470 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
If x? + 8x — 1 = 0, then the value of x* — ,_,_1; is:

Options :
1. ¥ -536
2. % —488
3. % 488
4. % 536

Question Number : 62 Question Id : 25498929470 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
2 _ 3 .1
I 2 +8x—1=0, & arx —= I I FT g

Options :
1. ¥ —536
2. % —488
3. % 488
4. % 536

Question Number : 63 Question Id : 25498929546 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, a number series is given. Identify the INCORRECT number in the series.

45,15,6,3,2,1,4
Options :

1. ® 15

2.%3

3.%2

4.9 |

Question Number : 63 Question Id : 25498929546 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

fufead vy o Ue TRem Sae < 1S 81 39 | H Ted WReAT B UgdH Biforg|

45,15,6,3,2,1,4
Options :

1. %15

2.% 3

3.% 2

4.9 |

GENERAL MENTAL ABILITY AND REASONING

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 64 Question Id : 25498912863 Question Type : MCQ Option Shuffling : Yes Display Question Number :

2549896825
4

Online
Mandatory
6

6

6

Yes

Yes

0

1
2549896866
Yes

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 U U o7 fa=arg 1 3re BT 3R ISP YR TR U DT IR ST

YW@1&CN3PLB91=D*E2£MVS$T7#4FGS5

e Trefien! W qRA TS 31 aTelt T3t & T A Y SR[AT B [T ol §, O 39 YR ! gt Temaft & Al o1 ant

ERIN LI
Options :
1. % 22
2. %26
3. % 36
4, + 38
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Question Number : 64 Question Id : 25498912863 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the given arrangement and answer the question that follows.

YW@!&CN3PLB91=D*E2£MVS$7#4FG5

If the numbers immediately preceding the symbols are attached the value double their numerical value, then what will be the sum of
the values of all such numbers?

Options :
1. % 22
2. % 26
3. % 36
4. ¥ 38

Question Number : 65 Question Id : 25498912874 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&0 T 1eg # 31&RT & U fove g 8, O O Td® & oita I o1 31aR § Fora Siiisi! quraTan # 3% o4 82

GLAMOUR
Options :

1. % XY
2. ¥ Uh

3. % Q)

4. % diH

Question Number : 65 Question Id : 25498912874 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Find out how many such pairs of letters are there in the given word each of which has as many letters between them in the word as in
the English alphabet.

GLAMOUR
Options :
1. # Nil
2. % One
3. # Two
4. ® Three

Question Number : 66 Question Id : 25498918988 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fAaferRad Teq-gmi § 1 YT 11 & RIM WR 3 dTd 3FU Ysal b1 99 1 74T 11 H fAT T Weal § Y Db IuGeKd fadbed Bl
T DI

I:&TW::Q@:H

L (1) U 2) TG (3) IR (4) T

IL (A) SR (B) gaT (C) HRH (D) T
Options :

1.¥ 1B

2. % 1D
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3. % 2A
4. % 3C

Question Number : 66 Question Id : 25498918988 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
In the following pair, find two words related to the words already given — one word for each of two related pairs.

I: Modern :: Old : II

L. (1) Ancient (2) Death (3) Famous (4) Civilisation

II. (A) Industrialisation (B) Young (C) Fashion (D) Western
Options :

1.+ 1B

2. % 1D

3. % 2A

4. % 3C

Question Number : 67 Question Id : 25498919739 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

fRoferRad siies! BT 3ieaa B 3R U BT IR <
qrTfores fagm, T SR fasi & TR &7 aTat 450 TR & sfids =i fau MU §:

ot fawat o Shtof 167
ot fawa o Sreitol 60
1T fAT H Sfiol 175

TioTd o Sfeiol 199
fas= # sreiiol 191
Had ATHIID [aRT SThof 62
Had o o 3ol 48
had fasH | Il 52

had gt g H fa adigmdf srgeiivl guo
Options :

1.¥15

2. % 21

3. % 30

4. % 42

Question Number : 67 Question Id : 25498919739 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Study the given data and answer the question that follows.

Data on 450 candidates, who took an examination in Social Science, Mathematics and Science is given below.

Passed in all the 167
subjects

Failed in all the 60
subjects

Failed in social science | 175
Failed in mathematics | 199
Failed in science 191
Passed in social 62

science only
Passed in mathematics | 48
only
Passed in science only | 52
How many failed in Social Science only?

Options :
1.9 15
2. % 21
3. % 30
4. % 42

Question Number : 68 Question Id : 25498919816 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TS FiEd He yw H afe:

P@Q HIIF QI AP B,
P$Q’ BT 3 «Q HT U P &;
PHQ BT QB TETP &,
P*Q BT QB TAP B

I Fr*TSR@L ®, At Fafafed o @ o1 fAfa T u 3 gt 82
Options :

% JHIUE LY

2. LDITEIFS

3.% JHIHSF o

4. % LBHTHSFB

Question Number : 68 Question Id : 25498919816 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

In a certain code language,

‘P@Q’ means ‘P is the mother of Q’;
‘P$Q’ means ‘P is the husband of Q’;
‘P#Q’ means ‘P is the sister of Q’;
‘P*Q’ means ‘P is the son of Q.

If FAI*TSR@L, then which of the following is definitely true?
Options :

1. # L is brother of J

2. ¥ F is sister of L

3. # Fis brother of J
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4. % F is brother of L

Question Number : 69 Question Id : 25498927900 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 fqared o1 997 HifoTd off TR Wea F I THR Tafid § o THR g2RT Weg Ugd Vg I Yl g |

W:m::ﬁ‘\’nﬁ-ﬁ:?
Options :

1. ¢ =N

2. % JUgad

3. % diar

4. % TiqT

Question Number : 69 Question Id : 25498927900 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to the first word.

Elegance : Vulgarity :: Graceful : ?
Options :

1. ¥ Awkward

2. # Comely

3. # Asperous

4. % Dirty

GENERAL AWARENESS
Section Id : 2549896826
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896867
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549899820 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Consider the given viceroys of India during the British rule.

1. Lord Curzon

2. Lord Chelmsford
3. Lord Hardinge

4. Lord Irwin

Select the option that gives the correct chronological order of their tenures.
Options :
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1. ¥ 1-3-24
2. % 2-4-1-3
3. % 1-4-2-3
4. % 2-3-14

Question Number : 70 Question Id : 2549899820 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fofesr I & SRM YRd & IR & 91 g fRu U 8, ST foaR #3|

1. 1S oA

2. TS IRBTS

3. s BITST

4. 18 Rfa

frafiaa # § o119 91 570 SIS BT TG BITIHH 82
Options :

1.9 1-3-2-4

2. % 2.4-13

3. % 1423

4.%23.14

Question Number : 71 Question Id : 25498912763 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following games/sports does Susi Susanti hold the Grand Slam title?
Options :

1. ¥ Lawn tennis

2. % Badminton

3. # Volleyball

4. % Table tennis

Question Number : 71 Question Id : 25498912763 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

=N guicht A e & 9 fow oyl & e i fRadre Sitar am
Options :

1. % A g

2. ¢ Ssfiea

3. % dldisre

4. % Tgd ey

Question Number : 72 Question Id : 25498932052 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pablo Picasso, the famous painter, was:
Options :

1. # French

2. # TItalian

3. # Flemish

4. % Spanish
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Question Number : 72 Question Id : 25498932052 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TReTd AdR Ued! U™l 9
Options :

1. % DRI

2. % gdrerat

3. % TRITHT

4.« QR

Question Number : 73 Question Id : 25498932502 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Everything else can wait, but not agriculture.” The given statement is attributed to:
Options :

1. # Jagjivan Ram

2. % Jawaharlal Nehru

3. ¥ Mahatma Gandhi

4. # Sardar Patel

Question Number : 73 Question Id : 25498932502 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&R Il TchtedT R Gahel! &, fed BN Y, 39 HU= &1 91 fhuen! foa S g2
Options :

1. % SITSITa IH

2. ¢ SATER TSl A5

3. % T it

4. % TERUCH

Question Number : 74 Question Id : 25498932506 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where is the Central Food Technological Research Institute (CFTRI) situated?
Options :

1. # Bengaluru

2. ® Karnal

3. % Mysuru

4. % Lucknow

Question Number : 74 Question Id : 25498932506 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fefla @ Mt AT YRITH (CFTRI) Fgl IR Ry g2

Options :

1. % SIS

2. % DM

3. ¢ IR

4. % q9TSH
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Question Number : 75 Question Id : 25498932590 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following subjects comes under the common jurisdiction of the Supreme Court and the High Courts?
Options :

1. ¥ Mutual disputes among states

2. # Disputes between the Centre and state(s)

3. % Protection of the Fundamental Rights

4. % Protection from the violation of the Constitution

Question Number : 75 Question Id : 25498932590 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TTH A B 1 9w I=ad e SR S <aTad Gl & 1 &3 B 311 87
Options :

1. % 7Yl & oI YRR {darg

2. % g 3R I (@) & 9 faarg

3. A BRI HT A&

4. % UM b IJeeid Y W&

English Mock
Group Number : 2
Group Id : 2549894337
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
English Mock
Section Id : 2549896827
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response :  Yes

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896868
Question Shuffling Allowed : No
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Question Number : 76 Question Id : 25498940809 Question Type : TYPING TEST Display Question Number : Yes Calculator
: None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as
teamwork, socializing, decision making, independent and responsible living and more. It aids the overall development of a
child and children have fun during this process as they get to explore new arenas.

Restricted/ Unrestricted : Unrestricted
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The best way to fight liver disease is to avoid it. Here are some tried and true ways to achieve liver wellness. Maintain a
healthy weight. If you are fat or even somewhat overweight, you are in danger of having a fatty liver that can lead to
nonalcoholic fatty liver disease, one of the fastest growing forms of liver disease. Weight loss can play an important part in
helping to reduce liver fat. Eat a balanced diet. Avoid high calorie meals. Do not eat raw or under cooked shellfish. For a well
adjusted diet, eat fiber which you can obtain from fresh fruits and vegetables and whole grain breads and also from rice and
cereals. Also eat meat but limit the amount of red meat, dairy like low fat milk and small amounts of cheese and fats that are
monounsaturated and polyunsaturated such as vegetable oils, nuts, seeds, and fish. Hydration is essential that is why drink a
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lot of water. Exercise regularly. When you exercise consistently it helps to burn triglycerides for fuel and can also reduce liver
fat. Avoid toxins. Toxins can injure liver cells. Limit direct contact with toxins from cleaning and aerosol products and
insecticides and chemicals and additives. Make sure the room is ventilated and wear a mask when utilizing aerosols. Do not
smoke. Use alcohol responsibly. Alcoholic beverages can create many health problems. They can damage or destroy liver cells
and scar your liver. Talk to your doctor about what amount of alcohol is right for you. You may be advised to drink alcohol
only in moderation or to quit completely. Avoid the use of illicit drugs. In year, nearly million Americans aged twelve or older
were current illicit drug users that means they had used an illicit drug during the month prior to the survey interview. This
estimate represents nine percent of the population aged twelve or older. Illicit drugs include marijuana or hashish, cocaine
including crack, heroin, hallucinogens, inhalants, or prescription type psychotherapeutics that is used non medically. Avoid
infected needles. Of course, dirty needles are not only associated with intravenous drug use. You tend to discuss with a
medical practitioner and seek testing following any type of skin penetration involving sharp instruments or needles. Unsafe
injection practices may occur in a hospital setting and would need immediate follow up. Also, use only clean needles for
tattoos and body piercings. Get medical care if you are unprotected to blood. If for any reason you come into contact with
someone else blood, immediately follow up with your doctor. If you are very concerned then go to your nearest hospital. Do
not share personal hygiene items. For example, razors and nail clippers can carry microscopic levels of blood or other body
fluids that may be contaminated. Get vaccinated. There are vaccines for hepatitis A and hepatitis B. Unfortunately, there is
no vaccine against the hepatitis C virus. So these were the top ways that will help you to make your liver healthy.
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